Chapter 7 Section 7.1 Developing Systems of Systems of Linear Equations
Linear Equations
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Example Is the point (—1,1) a solution to:

7x +6y =1
x+2y=-3
Justify your answer.
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Example Find the solution to each of the following systems:
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Assignment p. 401 #1-9, 12, 15 Quiz: Next Day!



Chapter 7

Section 7.1 Developing Systems of

Linear Equations

Systems of Linear Equations

Example Solve the following system graphically. “Check your solutions

®x+y=—4
o (2 )2x =3y =12
x ’ Ao +0 = -4 \3—‘% 044 =-4
’ L%ZD) € =—-4 \2=0) =-4
: //” xNE oo —3(p)=12
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Example A school raised $140 by collecting 2000 cans and glass bottles for recycling. The school received 5¢
for a can and 10¢ for a bottle. How many cans and bottles were returned?

c = the % Of Cans YRIuvNed
b = tne ¥ Of boltles Yeturned-

C+ b= 2000 C-int C+Q =2000
(p=0) C =2000
5¢ + 0b = 4000 @)
w— \/\(~)
3 e ©-l0F gy p T 2000
(C=0) o = 2800
C-tnt B¢+ 1000 = 14000 b-\nt 5(6) * 1ov =14 oo
lp=0) Sc = 14000 LcC=0) Oy = 1409°
s ) 10 19
C = 2500 b = 400
Assignment p. 401 #1-9, 12, 15 Quiz: Next Day!
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C+ b= 2000
5c + 0b = \4p0oO
CHRQK * |2.00 + goo 5 (1200) +10[3UD)
= 200 2 LD + TOO®
= 40D

The3 refumed 1200 cans ang €oo Qoss oothes -



